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ACCOUNTANCY 
[ Hindi and English Medium ] 

ACADEMIC/OPEN 

(Only for Fresh/Re-appear Candidates) 

Time allowed : 3 hours ] [ Maximum Marks : 60 

•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 16 rFkk    
iz'u 25(11+7+7) gSaA  

Please make sure that the printed pages in this 
question paper are 16 in number and it contains    
25(11+7+7) questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk    lsVlsVlsVlsV dks 
Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 

The Code No. and Set on the right side of the 
question paper should be written by the candidate 
on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 
Number must be written. 

SET : A 
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•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 
•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 

vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written 
answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 
question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the question, ensure that you 
have been supplied the correct and complete 
question paper, no claim in this regard, will be 
entertained after examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

 (i) ;g iz'u&i= rhu rhu rhu rhu Hkkxksa esa foHkkftr gS % 

  HkkxHkkxHkkxHkkx    –    v %v %v %v %    vykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsA 

  HkkxHkkxHkkxHkkx    –    c %c %c %c % dEiuh [kkrs ,oa foÙkh; fooj.kksa dk fo'ys"k.kA 

        HkkxHkkxHkkxHkkx    –    llll    %%%%    dEI;wVjhÑr ys[kkaduA 

 (ii) Hkkx Hkkx Hkkx Hkkx – v v v v vfuok;Z vfuok;Z vfuok;Z vfuok;Z gSA ijh{kkFkhZ viuh bPNk ls Hkkx Hkkx Hkkx Hkkx – c c c c 
rFkk Hkkx Hkkx Hkkx Hkkx – llll esa ls dksbZ ,d,d,d,d Hkkx gy djsaA 

 (iii) lHkh lHkh lHkh lHkh iz'u gy djus gSaA izR;sd iz'u ds vad mlds lkeus 
n'kkZ, x, gSaA 
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 (iv) iz'u la[;k 1 ls 6 o 12 rFkk 13 ds mÙkj 15 ls 20 
'kCnksa eas fy[ksa rFkk iz'u la[;k 7 ls 10 o 14 ls 16 
ds mÙkj 40 ls 50 'kCnksa esa fy[ksaA 

 (v) iz'u la[;k 11, 17 rFkk 18 esa vkUrfjd NwV miyC/k 
gSA  

General Instructions : 
 (i) This question paper is divided into three 

Parts :  
  Part – A : Not for Profit Organizations & 

Partnership Accounts . 
  Part – B : Company Accounts & Analysis of 

Financial Statements. 
  Part – C : Computerized Accounting. 
 (ii) Part – A is compulsory. Candidates have 

to attempt any one part from Part – B and 
Part – C of their choice.  

 (iii) All questions are to be attempted. Marks of 
each question are indicated against it.  

 (iv) Give answer Question Nos. 1 to 6 and 12 & 
13 in 15 to 20 words and Question Nos. 7 to 
10 and 14 to 16 in 40 to 50 words. 

 (v) Internal choice is available in Question Nos. 
11, 17 and 18. 

Hkkx Hkkx Hkkx Hkkx –    vvvv    

PART – A 
¼¼¼¼vykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsvykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsvykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsvykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrs½½½½    

(Not for Profit Organizations & Partnership Accounts) 

  1. olh;rukes ds vUrxZr izkIr jkf'k dk o.kZu dhft,A  1 

 Describe the amount received under Legacy. 
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  2. lk>snkjh lays[k dks ifjHkkf"kr dhft,A 1 

 Define Partnership Deed. 

  3. jtr vkSj jksfgr 2 : 1 ds vuqikr eas ykHk&gkfu ck¡Vrs gq, ,d 

QeZ esa lk>snkj gSaA mUgksaus ykHk eas jke vkSj eksgu dks Øe'k% 

4

1
 o 

6

1
 Hkkx ds fy, u;k lk>snkj cuk;kA 

 u;k ykHk vuqikr Kkr dhft,A 1 

 Rajat and Rohit are partners in a firm sharing 
profits and losses in the ratio of 2 : 1. They 

admit Ram and Mohan as new partners for 
4

1 th 

and 
6

1 th share in profits respectively. 

 Calculate their new profit sharing ratio. 

  4. [;kfr dks ifjHkkf"kr dhft,A 1 

 Define Goodwill. 

  5. ,slh nksnksnksnks n'kk,¡ crkb, ftuesa ykHk izkfIr vuqikr ykxw fd;k tk 

ldrk gSA 1 

 Give two circumstances in which gaining ratio 
may be applied. 

  6. olwyh [kkrk dks ifjHkkf"kr dhft,A 1 

 Define Realisation Account. 
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  7. 31 ekpZ] 2018 dks lekIr o"kZ ds fy, flfVtu Dyc dk izkfIr o 
Hkqxrku [kkrk bl izdkj gS % 

izkfIrizkfIrizkfIrizkfIr    `̀̀̀ HkqxrkuHkqxrkuHkqxrkuHkqxrku    `̀̀̀ 
'ks"k vkxs yk;k x;k 

pUnk ¼` 10,000   
2,60,000 fdjk;k ¼fn;k 11 

         eghus dk½ 
 

1,76,000 
               2018-19½ 
vkthou lnL;rk 'kqYd 

5,80,000 
25,000 

chek 
osru  

3,000 
2,64,000 

fofu;ksx ij C;kt ¼7% 
izfro"kZ dh nj ls lEiw.kZ 
            o"kZ dk½ 

 
 

28,000 

LVs'kujh [kjhnh 

'ks"k vkxs ys tk;k x;k 

60,000 
3,90,000 

 8,93,000  8,93,000  31 ekpZ] 2018 dks lekIr gksus okys o"kZ dk vk;&O;; [kkrk 

fuEu lwpukvksa dks /;ku esa j[krs gq, rS;kj dhft, % 4 

 (i) 31 ekpZ] 2017 dks pUns dh jkf'k 30,000 ` cdk;k Fkh 
vkSj 31 ekpZ] 2018 dks 48,000 ` cdk;k FkhA 

 (ii) 31 ekpZ] 2017 dks LVs'kujh dk LVkWd 5,000 ` Fkk 
vkSj 31 ekpZ] 2018 dks 14,000 ` FkkA 

 (iii) chek 1 tuojh] 2018 dks ,d o"kZ ds fy, fn;k x;kA 
 Following is the Receipts and Payments Account 

of Citizen Club for the year ended 31st March, 
2018 : 
Receipts  `̀̀̀ Payments `̀̀̀ 

To Balance B/d 
To Subscriptions 

2,60,000 By Rent (paid for 
           11 months) 

 
1,76,000 

(including ` 10,000 
           for 2018-19)  

 
5,80,000 

By Insurance  
By Salaries 

3,000 
2,64,000 

To Life time 
    membership Fee 

 
25,000 

By Stationery      
            purchased 

 
60,000 

To Interest on 
Investment (7% 
    p.a. for full year) 

 
 

28,000 

By Balance C/d 3,90,000 

 8,93,000  8,93,000 
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 Prepare Income and Expenditure Account for the 
year ending 31st March, 2018 after considering 
the following informations : 

 (i) Subscriptions in arrear on 31st March, 
2017 were ` 30,000 and on 31st March, 
2018 were ` 48,000. 

 (ii) Stock of stationery on 31st March, 2017 
was ` 5,000 and on 31st March, 2018 was 
` 14,000. 

 (iii) Insurance was paid on January 2018 to 
run for one year. 

  8. ^,* vkSj ^ch* ,d QeZ esa lk>snkj gSaA lk>snkjh lays[k ds 
vuqlkj % 4 

 (i) 27,000 ` rd ykHk dks cjkcj ck¡Vsaxs rFkk 27,000 ` 
ls vkf/kD; dks 2 : 3 ds vuqikr esa ck¡VsaxsA 

 (ii) ^,* 5,000 ` okf"kZd osru ikus dk vf/kdkjh gS vkSj ^ch* 
deh'ku o ^,* dk osru ?kVkus ds ckn 'kq) ykHk dk 2% 
deh'ku ikus dk vf/kdkjh gSA osru o deh'ku ?kVkus ls 
iwoZ o"kZ dk ykHk 37,844 ` gSA 

  ykHk dk c¡Vokjk dhft, rFkk ykHk ,oa gkfu fofu;ksx 
[kkrk cukb,A 

 'A' and 'B' are partners in a firm. According to 
their partnership deed : 

 (i) Profit up to ` 27,000 are divided  equally 
and excess of ` 27,000 are divided in the 
Ratio of 2 : 3. 
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 (ii) 'A' is entitled to get annual salaries ` 5,000 
and 'B' is entitled to get 2% commission on 
net profit after charging such commission 
and A's salary. Profit for the year was 
` 37,844 before charging salary and 
commission.   

  Distribute the profit and prepare profit and 
loss appropriation account. 

  9. jfo] eqds'k] ujs'k vkSj ;ksxs'k 2 : 2 : 1 : 1 ds vuqikr esa 
ykHk&gkfu ck¡Vrs gq, ,d QeZ eas lk>snkj gSaA jfo vkSj ujs'k us 
QeZ ls vodk'k xzg.k djus dk fu.kZ; fy;kA QeZ dh [;kfr dk 
ewY;kadu 90,000 ` fd;k x;kA eqds'k o ;ksxs'k Hkfo"; esa 
ykHk&gkfu vuqikr 5 : 3 esa ck¡VsaxsA 

 [;kfr&O;ogkj ds fy, vko';d jkstukepk izfof"V dhft,A 4 

 Ravi, Mukesh, Naresh and Yogesh are partners 
in a firm sharing profits and losses in the ratio 
of 2 : 2 : 1 : 1. Ravi and Naresh decided to retire 
from the firm. The goodwill of the firm was 
valued at ` 90,000. Mukesh and Yogesh decided 
to share future profits & losses in the ratio of 
5 : 3. 

 Pass necessary Journal Entry for the treatment 
of goodwill. 

10. ^,* vkSj ^ch* 2 : 1 ds vuqikr eas ykHk&gkfu ck¡Vrs gq, ,d 
QeZ esa lk>snkj gSaA os QeZ dk fo?kVu ¼lekiu½ djus ds fy, 
lger gq, %–  lEifÙk;ksa ls olwy gq, 2,50,000 `A 

 mÙkjnkf;Ro bl izdkj gSa % ysunkj 1,50,000 `; cSad _.k 
70,000 `; iw¡th ^,* 40,000 ` vkSj ^ch* 35,000 `( 
jksdM+ 3,000 `A 

 QeZ dh iqLrdksa eas olwyh [kkrk rS;kj dhft,A 4 
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 'A' and 'B' are partners in a firm sharing profits 
and losses in the ratio of 2 : 1. They decided to 
dissolve their firm. The assets realized of 
` 2,50,000. 

 Liabilities of the firm were : Sundry creditors 
` 1,50,000; Bank Loan ` 70,000; Capital A's 
` 40,000 and B's ` 35,000; cash in hand ` 3,000. 

  Prepare a Realization Account in the books 
of the firm. 

11. jke vkSj jfo 5 : 3 ds vuqikr esa ykHk&gkfu ck¡Vrs gq, ,d 
QeZ esa lk>snkj gSaA 31 ekpZ] 2018 dks QeZ dk fLFkfr fooj.k 
bl izdkj Fkk % 

mÙkjnkf;RomÙkjnkf;RomÙkjnkf;RomÙkjnkf;Ro    `̀̀̀ lEifÙk;k¡lEifÙk;k¡lEifÙk;k¡lEifÙk;k¡    `̀̀̀ 
iw¡th %&  Iyk.V o e'khujh 40,000 

jke 30,000 `  LVkWd 30,000 

jfo 20,000 ` 50,000 nsunkj 20,000 

ysunkj 15,000 izkIr foi= 10,000 

cSad vf/kfod"kZ 42,500 cSad 'ks"k 7,500 

 1,07,500  1,07,500 

    eksgu dks 
4

3
 Hkkx ds fy, QeZ esa izos'k fn;k x;kA og 

40,000 ` iw¡th ds :i eas o 4,000 ` [;kfr ds izhfe;e ds 

:i esa yk;kA jke o jfo Iyk.V o e'khujh dk ewY; 10% 
c<+kus rFkk nsunkjksa ij 5% dh nj ls vk;kstu cukus ij 

lger gq,A 

  iquewZY;kadu [kkrk] lk>snkjkas ds iw¡th [kkrs vkSj QeZ dk 
u;k fLFkfr fooj.k rS;kj dhft,A  8 
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 Ram and Ravi are partners in a firm sharing 
profits and losses in the ratio of 5 : 3. The 
position of the firm as on 31st March, 2018 was 
as follows : 

Liabilities `̀̀̀ Assets `̀̀̀ 

Capital A/c :–  Plant &  

     Machinery  

 

40,000 

Ram       ` 30,000  Stock 30,000 

Ravi       ` 20,000 50,000 Sundry Debtors 20,000 

Sundry creditors 15,000 Bill Receivable 10,000 

Bank overdraft 42,500 Cash at Bank 7,500 

 1,07,500  1,07,500 

 Mohan now joins on condition that he will share 

4
3  of the future profits. He introduced ` 40,000 

by way of capital and further ` 4,000 by way of 
premium for goodwill. Ram and Ravi agree to 
appreciate plant and machinery by 10% and to 
raise a reserve against sundry debtors @ 5%. 

  You are required to prepare Revaluation 
Account, Partners' Capital Accounts and New 
Balance Sheet of firm. 
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vFkokvFkokvFkokvFkok    

OR 

    ,d lk>snkj dh e`R;q ij mlds fgLls ds ykHkksa dh x.kuk djus 
dh fofHkUu fof/k;ksa dk mnkgj.k lfgr o.kZu dhft,A 8 

 Explain with example various methods of 
computing the share of profits in case of death of 
a partner. 

HkkxHkkxHkkxHkkx    –    cccc    
PART – B 

¼¼¼¼dEiuh [kkrs rFkk foÙkh; fooj.kksa dk fo'ys"k.kdEiuh [kkrs rFkk foÙkh; fooj.kksa dk fo'ys"k.kdEiuh [kkrs rFkk foÙkh; fooj.kksa dk fo'ys"k.kdEiuh [kkrs rFkk foÙkh; fooj.kksa dk fo'ys"k.k½½½½    

(Company Accounts & Analysis of Financial Statements) 

12. foÙkh; fooj.k ds fo'ys"k.k dh egÙkk dk o.kZu dhft,A 1 

 Explain the significance of Analysis of Financial 
Statements. 

13. foÙkh; fooj.k fo'ys"k.k dk dksbZ ,d,d,d,d mís'; crkb,A 1 

 Give any one objective of Financial Statements 
Analysis. 

14. ^,Dl okbZ tsM fy0* dh dk;Z'khy iw¡th esa gky ds o"kks± esa 
fxjkoV vkbZ gS vkSj vc fLFkfr fuEu gS % 

 pkyw lEifÙk;k¡ % LVkWd 5,60,000 `; nsunkj 3,50,000 ` vkSj 
            jksdM+ 70,000 `A 

 pkyw nkf;Ro % ysunkj 4,90,000 `; cSad _.k 2,00,000 `A 

 x.kuk dhft, % (i) pkyw vuqikr] ,oa (ii) Rofjr vuqikrA 4 
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 The working capital of 'XYZ Ltd.' deteriorated in 
recent years and now as under : 

 Current Assets : Inventory ` 5,60,000; Debtors  
                   ` 3,50,000 and Cash ` 70,000. 

 Current Liabilities : Creditors ` 4,90,000;  
                         Bank Loan ` 2,00,000. 
Compute : (i) Current Ratio, and (ii) Quick Ratio. 

15. fuEufyf[kr lwpuk ls fuos'ku fØ;kvksa ls 'kq) jksdM+ izokg dh 

x.kuk dhft, % 4 

 31-03-2017  31-03-2018 

vifyf[kr ewY; Hkou (WDV) 6,00,000 ` 7,50,000 `  vfrfvfrfvfrfvfrfjDr lwpuk,¡ %jDr lwpuk,¡ %jDr lwpuk,¡ %jDr lwpuk,¡ % 
 (i) 1,00,000 ` ykxr dk Hkou] ftlij ,df=r Ükl 

30,000 ` gS] 60,000 ` dk cspk x;kA 
 (ii) 31-3-2018 dks lekIr o"kZ esa Hkou ij 50,000 ` 

Ükl yxk;k x;k A 
 Calculate Net Cash Flows from investing 

activities from the following information : 

 31-03-2017 31-03-2018 

Building (W.D.V.) ` 6,00,000  ` 7,50,000  

 Additional informations : 
 (i) Building costing ` 1,00,000 on which 

` 30,000 accumulated on depreciation was 
sold for ` 60,000. 

 (ii) Depreciation charged on building for the 
year ended 31-3-2018 ` 50,000. 
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16. jksdM+ izokg fooj.k ds fdUgha pkjpkjpkjpkj mi;ksxksa dk o.kZu dhft,A 4 

 State any four uses of Cash Flow Statement. 

17. ,d dEiuh us 100 ` okys 5,000 lerk va'k leewY; ij 

fuxZfer fd,A 'kq) jkf'k dk Hkqxrku bl izdkj gS % 

  vkosnu ij 25 `; vkcaVu ij 25 `; igyh o vfUre 

fdLr ij 50 `A 

  ,d va'k/kkjh] ftlds ikl 300 va'k Fks] igyh o vfUre 

fdLr dh jkf'k dk Hkqxrku ugha fd;kA mlds va'kksa dks tCr dj 

fy;k x;k vkSj 70 ` izfr va'k ds fglkc ls iqu% fuxZfer dj 

fn, x,A 

  dEiuh dh iqLrdksa eas vko';d tuZy izfof"V;k¡ dhft,A 8 

 A company makes an issue of 5,000 equity 

shares of ` 100 each at par. The net amount is 

payable as follows : 

  On application ` 25; On allotment ` 25 and 

First & Final Call ` 50. 

  A shareholder holding 300 shares did not 

pay first & final call money. His shares were 

forfeited and re-issued at ` 70 per share. 

 Pass Necessary Journal Entries in the books of 

company. 
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vFkokvFkokvFkokvFkok    

OR 

 fuEu ij laf{kIr fVIi.kh fyf[k, % 

 ¼v½ vfr fuxZeuA   4 

 ¼c½ va'kksa dk izhfe;e ij fuxZeuA  4 

 Write short notes on : 

 (a) Over Subscriptions. 

 (b) Issue of Shares at Premium. 

18. ^, fyfeVsM* dh iqLrdkas esa 1 vDVwcj] 2017 dks fuEu 'ks"k 
iznf'kZr Fks % 

 ` 

12% _.ki= :  9,00,000 

flafdax Q.M :  6,75,000 

flafdax Q.M fofu;ksx ¼vafdr ewY;½ :  7,65,000 

  fofu;ksxksa ij C;kt 30 flrEcj o 31 ekpZ dks 8% dh 
nj ls okf"kZd vk/kkj ij izkIr fd;k tkrk gSA 

 izfro"kZ 31 ekpZ dks flafdax Q.M esa 1,50,000 ` dk va'knku 
fd;k tkrk gSA 

  31 ekpZ] 2018 dks _.ki=ksa dk Hkqxrku ns; gks x;kA 
dEiuh us flafdax Q.M fofu;ksx dks 90% ij csp dj _.ki=ksa 
dk 'kks/ku dj fn;kA ml fnu cSad esa 'ks"k 3,24,000 ` 
¼fofu;ksxksa ls C;kt izkfIr ls iwoZ½ FkkA  

  ^, fyfeVsM* dh iqLrdkas esa vko';d [kkrs rS;kj dhft,A 8 
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 The following balance appeared in the books of 
'A' Ltd. on 1st October, 2017 : 

 ` 

12% Debentures :  9,00,000 

Sinking Fund :  6,75,000 

Sinking Fund Investments 
                    (Face Value) 

 
:  7,65,000 

  Interest on investment is received on 
September 30 and March 31 @ 8% per annum. 

  Annual contribution to the Sinking Fund 
was ` 1,50,000 made on March 31 each year. 

  Debentures fell due for payment on 
March 31, 2018. The company carried out the 
redemption by the sale of Sinking Fund 
Investments at 90%. On that date balance at 
bank stood at ` 3,24,000 (before interest on 
investment has received.) 

  Prepare necessary Ledger Accounts in the 
books of 'A' Ltd. 

vFkokvFkokvFkokvFkok    

OR 

 _.ki=ksa dk ifjorZu }kjk 'kks/ku ls vkidk D;k vfHkizk; gS \ 
,d mnkgj.k ysdj tuZy izfof"V;ksa }kjk Li"V dhft,A 8 

 What do you mean by redemption of debentures 
by conversion ? Explain with the help of Journal 
Entries by taking an example. 
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HkkxHkkxHkkxHkkx    –    llll    

PART – C 

¼dEI;wVjhÑr ys[kkadu½¼dEI;wVjhÑr ys[kkadu½¼dEI;wVjhÑr ys[kkadu½¼dEI;wVjhÑr ys[kkadu½    

(Computerized Accounting) 

12. MkVk izkslsflax D;k gS \ 1 

 What is data processing ? 

13. MkVk oSfyMs'ku D;k gS \  1 

 What is data validation ? 

14. dEI;wVjhÑr ys[kkadu iz.kkyh ds y{k.k fyf[k,A 4 

 Explain features of Computerised Accounting 

System. 

15. MkVkcsl izcU/k iz.kkyh ls D;k vfHkizk; gS \ 4 

 What do you mean by the concept of Database 

Management System ? 

16. ^dLVksekbTM vdkmafVax iSdst* ij laf{kIr fVIi.kh fyf[k,A 4 

 Write short note on 'Customized Accounting 

Package'. 
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17. fjiksfV±x flLVe dh vko';d ckrsa fyf[k,A 8 

 Explain essential of Reporting System. 

vFkokvFkokvFkokvFkok    

OR 

 ^iwNrkN* cukus dh fofHkUu fof/k;ksa dk o.kZu dhft,A 8 

 Explain the different methods of creating 'query'. 

18. ys[kkadu esa LizsM'khV ds fofHkUu mi;ksxksa dk foLrkj ls o.kZu 
dhft,A 8 

 Explain in detail the different applications of 
spreadsheet in Accounting. 

vFkokvFkokvFkokvFkok    

OR 

 LizsM'khV D;k gS \ bldh fo'ks"krk,¡ fyf[k,A 8 

 What is Spreadsheet ? Give its features. 

! 


